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Chapter 4

Arrays : Vectors & Matrices




Notes:

a2 Sl Length

3aac Y dae g wh ghiall dae e Janty e Size
A=[23:4 5;6 7]
B=size(A) —=> B=3 2
R=size(A,1) =2 R=3
C=size(A,2) = C=2
Pl=prod(A) — 2sc JS yalic i pa
P2=prod(A,2) 2 —aa S palic
P3=Prod(A(:)) = s=elxll JS oy




Notes: 2 3 5
A=[235,726;91 10]
M1l=max(A) 2> 2sc S 3 oball dall
M=max(A,[],2) 2 “aa JS & abandl 4ol
M3= max(A(:)). > AdlS 4 giiadl & alsall Lol
B=5;
C=max(A,B) =2

SV dgal) 48 jaiaall o jmhd\muMM\UJm

[m,jl=max(a) == [m,jl=max(a,[],z
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Notes:

A=[235:726;9110]

M1=min(A) > s S G 5 nall Al
M2=min(A,[],2) 2 caa & A jrall 1adll
M3=min(A(:)) = S A8 aadl 8 5 pall iall
B=5;

C=min(A,B) 2
M\M\Aﬁjw\u ij\whuM\qu
[m,j]=min(a) "~ [m,jl=min(a,[],2) i
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Notes: 2
A=[235:726;91 10]

Sl=sum(A) 2 2xe JS palic & gaaa (Caa)
S2=sum(A,2) 2> —ra JS palic & sana (3 5ac)
S3=sum(sum(A),2) > =il JS & 5034 45
S4=sum(A(:)) = r=liall JS & gana

numel == prod(size(A))




Notes:

2 3 5
A=[235;726;9110] 7 : 6
9 1 10

Al=sort(A) > xlaidgc JS iy
A2=sort(A,2) 2> sxlalCaa IS i ),
A3=sortA(:)) =2 aalydsac ledla palic i

D1=sort(A/descend’) =2 )8 s JS Iy
D2=sort(A,2,/descend’) > SO caa JS iy
D3=sort(A(:), ’descend’)) = L aal gasarS 1 palic (1

&
-
2

£ w00
i

Magic(3)

(N3]




Create the row vector of odd numbers from 1 to 21,
L=1357911131517 1921
Find the sum S of vector L's elements.

— : ————— —
Command Window

B U= (F2:21)
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a. Form the matrix
A="232
101
b. Find A(2,2)

Command Window

>» B=[2 3 2;1.0 1]

>3 A(2,2)
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A row vector b from 325 to 405 with an interval of 20. Do the following:

-Create the vector Command Window

S p=(325:20:405)
-sum a of vector C’s elements. ||

-Extract elements from2to 4 || *°
325 2345 365 385 405
*>-sun(b)

ang =

1825

»» c=h(2:4)

C:

345 365
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Create the following matrix
12 3 4.5
2 3 4856 6
3 &,5v6 7
4 56 7 8

and find :
- Find elements equal 5

- Find elements greater than 5

-a(1,4)

Command Window

*>»a=[1 2 34 5:2 34 5 6:349,5 6 T7T!4 56 1 8]

find(A==5)

find(A>5)
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Create two different vectors of the same length and add them.
b) Now subtract them.
c) Perform element-by-element multiplication on them.
d) Perform element-by-element division on them.
e) Raise one of the vectors to the second power.

== m=linspace (1,

= =

A . OQoo - -

> y—linspace (5,

5.0000 -

m=csar

& . 0000
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Command Window

0.2000

0.4444

0.5667

0.6400

0.6889

0.7238

0.7500
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Create a 3x3 matrix and display the first row and the second
column on the screen.

1
1 2 3
2

>> B(l, :)

ans’ =

=> Bfie2)

ans =

DS T
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Write matlab code do the following :

Create matrix a= 10 12 23 & b= 12 31 45
14-8_ 6 8 0 -9
27 8 9 45 2 11

c =concatenate two matrices horizontally

d=concatenate two matrices vertically

Find diag(a,2) .
Find diag(b,3) b\
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+
a=[10 12 23734
b=[12 31 "45:8
c=[a,bl]
da=[atb]

2
8
8
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Q7.m | 0O8.m +

Write matlab code do the following ||: = 757"
- Create matrix ~a= 523 =

734

185

- Printall elements from column 2 to 3
- delete the second row of matrix a
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Write matlab code do the following :

123
234
12:5

Create matrix a-=

Print the prod is the multiplication of two matrices

& b=213
50-2
23-1
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Write matlab code do the following :

583
634
175
- Print the inverse of the matrix

- Create matrix a-=

- Printthe determine of the matrix

fs @O.m [ Ql0.m +

3;e 3 4;1 T 5]

¥=[5/8

Command Window

>> Q10

a.A218
—=0.1410
1731

-4.1474
DL01z28
0.2115
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Write matlab code to do the following :
- Create a 6 x 3 matrix A of zeros
- Create a matrixa B of ones with 2 rows and 4 columns.

2> ones(Z,4)

dans =

»» 812¢(ans)

ans =

2 4
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